Below are notes from my instructor telling how he wants us to approach the problems. Please show step by step & in the way that we are expected to in class. There is 1 problem in this problem set. Thanks very much. I really appreciate all your help thus far.
15 Shapes of a Graph
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and differentiable on [image: image4.png](a,b)



. The states that there a point [image: image5.png]
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at which the slope of the tangent is the slope of the secant line passing through [image: image7.png]
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	The sign of the derivative determines the monotonicity of a function 
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is increasing if [image: image11.png]fla) < f(b)
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is decreasing if [image: image14.png]fla) > f(b)
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is differentiable, then it follows from the Mean Value Theorem that 
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is increasing on intervals where [image: image18.png]
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is decreasing on intervals where [image: image20.png]


. 


	Concavities 
The sign of the derivative determines the monotonicity of a function 
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is increasing if [image: image22.png]fla) < f(b)
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is differentiable, then it follows from the Mean Value Theorem that
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is concave up if its graph lies above tangent lines.
It is concave down if its graph lies below its tangent lines. 
In practice, to determine intervals on which the function [image: image29.png]


is concave up, we solve the inequality [image: image30.png]


.
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is concave down on intervals where [image: image32.png]
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10. Does the function [image: image33.png]flz) =322 + 52 -2
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, satisfy the hypotheses of the Mean Value Theorem? Find [image: image35.png]


such that [image: image36.png]


is the slope of the secant line passing through [image: image37.png]
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. A related (real) clip. 
If u cannot watch the real video clip I understand.
